Precalculus
2.5 Homework

Odd Answers

1. remainder 8, not a factor

3. remainder O, factor

5. £, %1

7. 414349, 41 43 43 41 +1

9. Zeros: —3,—1, 2; Factored form: f(x)=(x+3)(x+1)(x-2)

11. Zeros: —1, +, —+/3, \/3; Factored form: f(x)=2(x+1)(x—%)(x+«/§)(x—\/§)
13. x=2 orx=—1+v2 orx=-1-+2

15. —iand 1—-i

17. 2—iand —3+i

19. f(x)=x"—4x"+7x° -8x* +6x—4

21.34+2i,—2, and 5

23. Zeros: 2, 3—2i, 3+2i; Factored form: f(x)=(x—2)(x—3+2i)(x—3-2i)

25. Zeros: —4, 1, 2-3i, 2+3i; Factored form: f (x)=3(x+4)(x—1)(x—2+3i)(x—2-3i)
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